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Lincar Algebra (Matlsh Final exam)i
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1z Fenal the mormalized weetar Ma of the voctor:

21 022

a=[6 3 2 S

Ma =

32: Babve the following equation: .

By poay =uye Sxatan = |

A

3: Find the left or right inverse for the following matrices:
1 3 - o

J=I_F ;,IHHJH_-.:‘ 4

y 5. 6

Leit inverse | Right inverse

(4; for the following tablc:

[T | 1 [ 2 ] 3 | 4 1 ; [
{aparxs | 70| 20 | 33 | 44 | 35 | 70 | 80§ 50
By | 17 | 5 | 15| 5 [ ds | s | 17 1 9|

==

|- Find the equation using least squares |y=
-

E 1

(5 Find the eigenvalues and cigenvectors of the matrix AS

2= Predict the output ¥ if x,=06, and x;=63

Xy N —

Matlab Functions: norm(a), mean(a), std(a, 1), mef(A), pinv(A}), and eig(A)
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